TvoFeni otazek — testovani

a) VytvoFeni otdzky se zadanym tazacim slovem ( které se vziahuje k vychozi vété)

Example: Susan has been married for 30 years. Who ...has been married for 30 years?

[ have been living here for ten years. How long..............co..cociveeiii oo here?

She can spéak many languages. HOW MANY ...ocoovoiiioeeeee oo, ?

He passed the exam on May 12", WHEN .....oooveeoiveeeoieee oo ?
Helen did not attend the seminar last year. WHO .......cccccooeeresvocrocorooo last year?
The tsunarni‘;was caused by an earthquake. What.........coocoveeiioiiieioeeeeeeneeeeeooe by?
The missing child was found last week., WHen ..........o.ooovovoereooeoeeeeooooooooo ?

b) Vytvofeni otdrky z dané slovni zdsoby (nékdy je vice spravnych moznosti)

e.g. How/ you/ hear/ thisjob? ... How did you hear about this job?

¢) VytvoFeni otizky na zvyranénou &ist véty = Ask so that you can answer by the underlined
words (v hovoru se tak ptame na cdst véty, které jsme nerozuméli)

Example: Much of the recycling and redistribution of the earth’s water takes place in the
atmosphere. Question: What takes place in the atmosphere?

Susan got married in 1977, .............. e e e e et e e e R e s e basa et eae e e enre st e aeestreeears
Particles settle t0 the DOtEOML. ......cocooverivoreieieceeiee e

The slopes of the riverbed have become more gentle. .....ov.covvveiveocvoneererrcreerser e

Gravity Causes @ FOCKSIIAE. ..ot et
Rainfall can cause a landslide.  .oooooiiieieeeeee e e IR eteeaaan

The wedding ceremony took place in the 10€al ChUreR..............cooovveervovercerecerce oo

Champagne is made In FIAIEE. .cocoooovomrorriieiceeccee s eee e es s s s et st

They were taken to the hosDItal. ..........cccoviiiirieiiiiiieeeee oo eeeee oot oo :
3 000 people came to Watch the CEIEIMONY. ......covuiieeeviieiiereeereeeeeee oo e s e et

-The house was buried by 8 TandSlide. ..........c.cocooeiiiiiriieeoeeeeeeeeeeee e oo oo
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